दिल्ली विकास प्राधिकरण उप-निदेशक कार्यालय, उद्यान खण्ड – तृतीय बी2बी, जनकपुरी, नई दिल्ली-110058



Dated: 17 Aug. 2022.

No. F54 (24) DD/Hort.-III/2022-23/DDA/1175-

To

M/s Maha Veer Const. Co., F-29, Jeewan Park, Uttam Nagar, New Delhi-59.

Name of Work: M/o completed Scheme of N/A-II under SWZ.

M/o NHP A-4 Supriya Aptt. Paschim Vihar.

Sub Head: S/S of good earth, jamuna sand, S/o Plants & Digging of holes, etc. at site.

PG Ref.: FDR/Bank Guarantee No. 41148896343 dated 26.07.2022 Amount Rs. 7,500/- from SBI, 5-B/4, Main Najafgarh Road, Tilak Nagar, N.D.-18.

Sir,

Your quoted item rates tenders for the above mentioned work has been accepted on behalf of DDA as under:

Estimated cost Contractor quoted Amount Accepted tendered Amount	: : :	Rs. 4,74,255.00 Rs. 2,47,400.00 Rs. 2,47,400.00 (Rupees Two Lakh Forty Seven Thousand Four Hundred Only)
Percentage of tender Time Allowed	:	47.83% below: 45 Days.

The item to be taken for the purpose of clause-12 shall be 47.83% below on rates based on DSR-2020/Market Rates. You are requested to attend the office to sign the agreement along with non-judicial stamp paper worth Rs. 100/- within ten (10) days from the date of issue of this letter, failing, which the acceptance of tender is likely to be withdrawn and the earnest money forfeited. You are therefore, directed to contact the **AD-III** of this office and start the work at once. Please note that the time allowed for carrying out the work as entered in the tender still be reckoned after the ten days from the date of issue of this letter to commence the work. Your letter dated 30.07.2022 shall be part of the Agreement.

Copy to:

- 1. Director (Hort.) NW, DDA.
- 2. Dy. Director (QC) III, DDA.
- 3. A.O. (W) II, DDA.
- 4. A.O. (CAU) Dwarka, DDA.
- 5. Dy. Dir. Hort. II, V, VIII & Dwarka, DDA.
- 6. Income Tax Commr. W No. _____New. Delhi.
- 7. A.D. Hort. Div. III, DDA.
- 8. Comm. Sale Tax. NCT Delhi.
- 9. File Concern.
- 10. Agreement File.
- 11. DDA website https://eprocure.gov.in/eprocure/app or www.dda.org.in or cppp-nic@nic.in

Director (Hd

Dy. Director (Hort.) - III/DDA

Item Rate BoQ

Tender Inviting Authority: DELHI DEVELOPMENT AUTHORITY DY. DIRECTOR (HORT.) III

Name of Work: Name of Work: M/o Complete scheme of N/A- II under SWZ. M/o NHP A-4 Supriya Apartment Paschim Vihar. Sub Head: S/S of Good Earth, Jamuna Sand, S/o Plants & Digging of Holes etc. at site.

Print

Validate

Help

	D: 011-25507273, NIT No. 24/DD/HortIII/DDA/2022-2 MAHA VEER CONST CO		4,74,255/		•
Bidder/ Bidding Firn					
Company :					Et an a
	PRICE SCHED	ULE			terrene and a second standard starting of the second starting of the second starting of the second starting of
(This BOC	template must not be modified/replaced by the bidd	ler and the s	ame shou	ild be uploaded	after filling the
relevent	columns, else the bidder is liable to be rejected for t Name and Values	his tender. B	idders ar	e allowed to en	ter the Bidder
NUMBER #		NUMBER #	TEXT #	NUMBER #	NUMBER #
SI.	Item Description	Quantity	Units	BASIC RATE In	
No.		Quantity		Figures To be entered by the Bidder in Rs. P	Without Taxes in Rs. P
1	2	· 4	5	13	53
1	Supply and stacking of good earth at site by including mechanical transport royalty and carriage, loading unloading with all lead and lift. (Good Earth measured in stacks will be reduced for 20% payment)	17.00	Cum	400.00	6800.00
2	Supply and stacking of Jamuna Sand at site by mechanical transport including royalty carriage and loading unloading for all lead and lift.	17.00	Cum	800.00	13600.00
3	Digging holes in ordinary soil and refilling the same with the excavated earth mixed with manure or sludge in the ratio of 2:1 by volume (2 parts of stacked volume of earth after reduction by 20% : 1 part of stacked volume of manure after reduction by 8%) flooding with water, dressing including				1
	removal of rubbish and surplus earth, if any with all leads and lifts (cost of manure, sludge or extra good earth if needed to be paid for separately):				
3.1	Holes 90 cm dia., and 90 cm deep	100.00	Each	90.00	9000.00
3.2	Holes 60 cm dia., and 60 cm deep	500.00	: Each	30.00	15000.00
4	Earth work in excavation by mechanical means (Hydraulic Excavator)/manual means over areas (exceeding 30cm in depth. 1.5m in width as well as 10 sqm on plan) including disposal of excavated earth lead up to 50 m and lift up to 1.5 m, as per direction of engineer-in-charge. 5 mtr X 4 mtr X 1 X 2 Nos.= 40.00 Cum (Manure Pit).	40.00	Cum	150.00	6000.00,
5	Supply of Tree Plants:				
5.1	Providing and stacking of plant Ficus blackii (F.vivion) of height 150-165 cm. with 8-10 branches & healthy foliage in earthen pots of size 30 cm at site as per direction of the officer-in-charge.	100.00	Each	200.00	20000.00
	Supply of Shrub Plants:				· · · ·
0.1	Providing and stacking of Hibiscus rosasinensis of height 90-105 cm., bushy in big size HDPE bag as per direction of the officer-in-charge.	200.00	Each	60.00	12000.00
6.2	Providing and stacking of Tecoma stans of height 90- 105 cm. bushy in big size HDPE bag as per direction of the officer-in-charge.	200.00	Each	60.00	12000.00

ţ,

6.3	Providing and Displaying Bougainvillea named variety, Sobhra, Thima, Marry palmar, Cherry Blossom etc. well developed with fresh & healthy bushy plant in full bloom 75 to 90 cm ht. in 40 cm Cement Pot as per direction of the officer-in-charge.	200.00	[.] ' Each	40.00	8000.00
6.4	Providing and stacking of Calliandra hybrida of height 105-120 cm., well branched, bushy in big size HDPE bag as per direction of the officer-in-charge.	100.00	Each	90.00	900.00
6.5	Providing and stacking of Nerium oleander variegated of height 60-75 cm., multibranched in earthen pots of size 25 cm as per direction of the officer-in-charge	100.00	Each	90.00	900.00
6.6	Providing and stacking of Ficus panda of height 60-90 cm, with 8-10 branches, and healthy foliage, bushy in big size HDPE bag as per direction of the officer-in-charge.	200.00	Each	90.00	18000.00
7	Supply of Hedge Plants:				
7.1	Supply and stacking of plant Murraya exotica of height 45-60 cm. in poly bags of size 15 cm as per direction of the officer-in-charge.	500.00	Each	15.00	7500.00
7.2	Providing and stacking of Putranjiva roxburghil of height 90-105 cm. in big polybag of size 25 cm as per direction of the officer-in-charge.	500.00	Each	15.00	7500.00
7.3	Providing and stacking of Clerodendron inermi having height 25-30 cm. multibranched in 15 cm size of Earthen pot/Plastic pot & as per direction of the officer-in-charge.	1000.00	Each	5.00	5000.00
8	Supply of Ground Cover Plants:				
8.1	Providing and stacking of Iresine herbstii, of height 20- 25 cm. full of branches well developed in 15 cm size of Earthen Pot/Plastic Pot & as per direction of the officer-in-charge.	100.00	Each	20.00	2000.00
8.2	Providing and staking of Wadelia trilobata plant, full of leaves in Earthen pot/Plastic pot of size 15 cm as per direction of the officer-in-charge.	500.00	Each	20.00	10000.00
8.3	Providing and stacking of Duranta Golden, having ht.15 to 20 cm bushty shape with fresh and healthy leaves in 15 cm size of Earthen Pot/Plastic Pot & as per direction of the officer-in-charge.	100.00	Each	20.00	2000.00
8.4	Providing and stacking of Euphorbia milli hybrid variety, having ht. 30 cm to 45 cm with multi branch, full bloom, fresh and healthy leaves in 30 cm size of Earthen Pot / Plastic Pot & as per direction of the officer-in-charge.	100.00	Each	30.00	3000.00
8.5	Providing and stacking of Syngonium variegated, of height 20-30 cm. with 2-3 suckers healthy foliage in Earthen Pot/Plastic Pot of size 15 cm. asper direction of the officer-in-charge.	. 50.00	. [;] Each	10.00	500.0
9	Supply of Foliage and Shade loving Plants				
9.1	Providing and displaying of Areca Palm plant, having ht. 1.80 m to 2.10 m with 8 to 10 suckers, well developed, fresh and healthy with lush green foliage in 30 cm size of Earthen pot/Plastic pot & as per direction of the officer-in-charge.	50.00	Each	100.00	5000.0
g.2	Providing and displaying of Rhapis Excelsa Palm plant, having ht. 75 cm to 90 cm.with 12 to 15 equal suckers, well developed, full of fresh & healthy leaves from bottom to top in 25 cm size Earthen pot/Plastic pot & as per direction of the officer in charge	50.00) . Each	100.00	5000.
9.3	Supply of Phoenix sylvestris Roxb. (Wild date palm/khajur) of plants height 150-165 cm. in Big HDPE Bag as per direction of the officer-in-charge.	50.00	D Eac	h	7500.
9.4	Providing and displaying of Livistona palm plant, having ht. 60 cm to 75 cm, well developed with 8 to 1 leaves, fresh & healthy foliage in 30 cm size of Earthen pot/Plastic pot . as per direction of the officer in-charge.		0 Eac	100.00	5000

.

9 .5	Provision of plant Bamboo Buddha valley with fresh & healthy 3 to 4 suckers having 75 to 90 cm ht. plant in 25 cm size Earthen Pot/ Plastic Pot & as per direction of the officer-in-charge.	-	Each	150.00 7500.00
9.6 Providing and displaying of Dracaena song of India variegated plant (three in one), having ht. 30cm well developed, fresh and healthy with lush green foliage from bottom to top in 20 cm size of Earthen pot/Plastic pot & as per the direction of the officer-in- charge.		200.00	Each	50.00 10000.00
10	Hiring of J.C.B/Hydraulic excavator (3-D) with driver,		Day	6500.00 19500.00
	Preparation of beds for hedging and shrubbery by excavating 60 cm deep and trenching the excavated base to a further depth of 30 cm, refilling the excavated earth after breaking clods and mixing with sludges or manure in the ratio of 8:1(8 parts of stacked volume of earth after reduction by 20%: one part of stacked volume of sludge or manure after reduction by 8%), flooding with water, filling with earth if necessary, watering and finally fine dressing, levelling etc. including stacking and disposal of materials declared unserviceable and surplus earth by spreading and levelling as directed, within a lead of 50 m, lift up to 1.5 m complete (cost of sludge, manure or extra earth to be paid for separately).	100.00	Cum	120.00
tal in Figu	res			247400.00
oted Rate	in Words	INR Two La	kh Forty Se	even Thousand Four/Hundred
		•	;	Only
δ του Έτ		,	. 1	Dy. Director (Hort.) Hort. Division-3 D.D.A.
	• • • • • • • • • • • • • • • • • • •			
		!		